H & 0l & AHS B Ml A

20248 =0ila eS| TR

A HRN
ZH: NENE =5
SRl KYAM=2 8N 22 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
THE 1t 4,750,382 14,649,153 29,898,771
= 148,490
== 12,000
[Ea 4,589,892
A= &= 734,672 758,787 A24,115
= 114,490
Ea 620,182
KZA=2] o8N &8 734,672 758,787 N24,115
= 114,490
s 620, 182
KAl =1t 139,760 134,852 4,908
201 et 3| 49,895 48,99 900
01 AtR2tc|bI 49,89% 48,99% 900
Oget=ZH] 15,455,000& 15,455
OXIgAl Xl S22 20,920,000 20,920
OXNE2SAM AIdy 29
5,000,000& 5,000
OfIds 288 +=¢ 100,000 x9 & »22| 1,800
O=etl 8,000 *7& » 120! 6,720
202 04l 13,800 18,000 24,200
01 SLHoIH 13,800 18,000 N\4,200
OMAIAtE =0l & AR A 13,800
—2LH O b 150,000 x7&* 122 12,600
— 22|04 100,000 «12& 1,200
203 =4l 1,000 1,000
03 A=A 2= 1,000 1,000
OXgNEg:R =&l 1,000,000 1,000
303 Za= 4,000 4,000
01 Za= 4,000 4,000
OHMSZAL & &2 - S2HE g2 Ld=s
2,000,000 *23] 4,000
308 AHAIEMSOIE 71,065 62,740 8,325
183 S| 2SI &HAEAIE 71,065 62,740 8,325
OXAIN KNP EEAAE FAIL224=H|
71,065,000 71,065
N8 2SI 165,398 164,952 446
301 2eEN= 5,000 5,000 0
14 JIEt2 8= 5,000 5,000 0
OdAHAMNX BSX = 50,0002 »1004 5,000
303 Za= 6,400 6,400
01 Za= 6,400 6,400
OXNZME=2gSeE I 258 L=
6,400,000& 6,400




2A:

IR

M U= &=
&2l XM= 3 &2 EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
306 EH= 3,998 3,552 446
01 &¢3 3,998 3,552 446
O =2 XNHMARA ==
3,998,002 3,998
401 Al&2HIZ S THY] 150,000 150,000
01 Al 150,000 150,000
ONSHE2SY BB LS MAIRY]
150,000,000& 150,000
MM 2+ 2 Mg2e 128,269 156,055 N27,786
201 LBr2| 77,200 102,700 A25,500
01 ArR222lt| 42,220 42,220 0
OAIREMES P 2,500,000& 2,500
ODXIA Ql4f, AB£42 S HYLLEZ
21,320,000 21,320
OXEELIISE 2% 222
100,000& 10X 1,000
OJIRAMREE 28 =E
100,000& +6H 600
OHXZLF 2elAAE AIZZ
12,000, 0002 2,000
ozl 8,000 #5120 4,800
2 ZZ2YH| 34,980 60,480 £25,500
OS= L ALY INA L& 28R
25,380,000& 25,380
OAEEHIR XL 9,600
—XEHHSE IXALAE RAE2H]
4,800,000& 4,800
~HYHE SEESAAY SN L4
4,800,000 4,800
202 Ot 14,000 17,000 A3,000
01 =WO4bI 14,000 17,000 A3,000
ONg g2 S20|
150,000 x5 * 12 9,000
OZ2 HFA MY2tdE HgH
5,000,000 5,000
203 AR F=&lH| 1,000 1,000
03 A FRIHRFAIY| 1,000 1,000
OHZE B4 92 2x
1,000,000& 1,000
303 L&z 5,000 5,000
01 Za32 5,000 5,000
OXIZAM X = Z&3
2,500,000& *23| 5,000
308 AXISHMSOIA 31,089 30,355 714
13 SI|2ASHICHSH B A X L EFALH] 31,069 30,355 714




SA: HRD
M U= &S
Rl XA 3 &8 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OHIFATTAIAE X2+
31,069,000& 31,069
IHEFER DA AL 233,715 235,398 1,683
= 114,490
o 119,225
101 21AH| 60,745 60,938 A193
= 29,760
o 30,985
M ORNZZ2NSE S 60,745 60,938 A193
OINEFEIIA AL 60,745
— A QIR 60,745,000 60,745
= 29,760
o 30,985
201 er2 3| 162,170 163,660 21,490
= 79,440
s 82,730
01 At 22|l 162,170 163,660 A1,490
OINEFEIDIA AL 162,170
—NEFHINH ABALR
6,690&*21,000= 140,490
= 68,820
= 71,670
—=gHl 11,680,000 11,680
= 5,721
s 5,959
— B2 10,000,000 10,000
= 4,899
= 5,101
202 04l 10,800 10,800 0
= 5,290
Ea 5,510
01 =LHNHI 10,800 10,800 0
OINEFEIAZAL 10,800
—IHEFEIAZAL & HAXNE =F
10,800,000 10,800
= 5,290
= 5,510
UHHR 2E 67,530 67,530 0
201 er2 3| 66,330 66,330
01 At2teltl 14,330 14,330
Odgt+==H| 2,700,000& 2,700
OXZAl DXl &2 70,0003 *1132f A 7,910
ORes 2¢ =¥ 100,000& 9 »23] 1,800




A THRD

M U= &S
&2l XM= 3 &2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=gH| 8,000 x2& » 120 1,920
2 ZZ2H| 52,000 52,000 0
ONH DAN 2 2BE
52,000,000 52,000
202 04| 1,200 1,200
01 =LHOHI 1,200 1,200
OWEHR = 1,200,000 1,200
clet 2 AIXel 3,978,590 3,853,246 125,344
= 34,000
= 12,000
= 3,932,590
SAet 3l 136,576 166,376 229,800
Hef & AME =29 136,576 166,376 /29,800
201 Ler23| 109,360 128,160 18,800
01 At2teltl 82,760 107,760 A25,000
Odgt==H| 5,000,000& 5,000
OBMM U BENF ol
25,000,000& 25,000
OSEMREDAN AEEHH]
15,000,000 15,000
OS=Ma UM 88 E+ S94|
5,000,000& 5,000
OUZtEH OI8==2 15,000,000 15,000
O3 248 =8 12,000
—2aEMREE =& 8,000,000& 8,000
> DAL LIPS 4,000,002 4,000
o=l 8,000& x6&»120& 5,760
02 S3=gHl 26,600 20,400 6,200
OAI2EbBI= X 21,600
—mAAA D2 SR 2
1,100,000& «12& 13,200
—ZA- SoilE ZE0d SXEs 2
700,000 * 122 8,400
OIHESRE HEEEE 5,000,000& 5,000
202 04| 6,000 6,000
01 =LHOLI 6,000 6,000
O & SAe =4 6,000
—2LH O b 3,000,000& 3,000
— 22|04 3,000,000 3,000
207 ARl 20,000 30,000 10,000
01 S| 20,000 12,000 8,000
OXgaiades dEALE 34|
20,000,000& 20,000
307 lztol & 1,216 1,216 0




2A:

A THarzte| et 3 AIXe
ol et A EER=E)
SA - ZE - B2(30) - HRAS of v e HIDE2
12 22 E W =S| 1,216 1,216 0
OZ4HHEARIE HEus WSh|
130,000 x4 520
OZNANSIE BT DAY
174,000& x4 696
THak2te| 3,842,014 3,686,870 155,144
= 34,000
S 12,000
o 3,7%,014
=37 2 200,648 217,892 A17,244
201 et 3| 60,448 60,292 156
01 At 22|l 48,340 48,340 0
Oget=EH| 1,000,000 1,000
OTRMA ZHIIL 42 S
700,000& %502 35,000
Ofde 28 =¥ 100,000 x5 %123 6,000
o=l 8,000 8 +60 3,840
OAIRI1D] &= 2,500,000& 2,500
2 S5=2g4l 12,108 11,952 156
OUzll=s ss=t84 2c
1,009,000& «12& 12,108
202 04t 9,200 11,600 N2,400
01 =LHOHI 9,200 11,600 A2,400
OSFTHAH AEHZAHES) 0]
2,000,000 2,000
OS=Mat AEHEAN R AL Xhef2e| SR
=& o 150,000& x4~ 123 7,200
203 HR=H] 1,000 1,000
03 A=A R =NH] 1,000 1,000
O3F Mt 2e| HRF 1,000,000& 1,000
207 ARl 100,000 100,000
01 = 100,000 100,000
OSF ML AE AL 71 ES
100,000,000& 100,000
401 AIEHIZ SR HYI 30,000 45,000 15,000
01 Al&HI 30,000 45,000 A15,000
OSFMA Il & 2=
30,000,000& 30,000
At 2,431,726 2,409,038 22,688
101 @124H| 28,728 0 28,728
M IRINZZENSE 28,728 0 28,728
ORMI2Z AL 22| Q1FY 28,728
—Jl2=s 78,8802 x1H*260 20,509
—F=54 =g 78,8803 1 »52& 4,102




AT MR
M THARRE2|2F SIHIH e
Chel: THAt2te EER=E)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
—QXFOt =& 78,8803 x 1 » 12 947
—40f E8= 25,558,000« 1H+12.4% 3,170
201 L= 1,187,998 1,124,038 63,960
01 AFS2t2ltl 53,360 53,360 0
OFEAEH M2+ 2,000,000 *62 12,000
ORIMES S 425 7 40,360
—SENSE 7Y 1,730& 50001 *4=2] 3,460
—St&EX +#Y 60,0003 *502 A*43] 12,000
—HEEES #Y 44,0003 5001 +42] 8,800
—etM Y 20,000 »50JH %62 6,000
—NEHN 7 20,0002 +50H 63! 6,000
—apd 23 7Y 140,000& 102 1,400
—A=H 7Y 20,0003 »25H*42] 2,000
—HAZZOH HOd01E
700,000& %12 700
O&FA2tel BSR4 1=
200,000 +5& 1,000
02 S3=4gl 1,134,638 1,070,678 63,960
OZZ22SZLHA 1,118,638
—=& 8JIes 18,000,000« 122 216,000
—CCTV ZHHIdIE &IIRs
7,000,000 128 84,000
—&=E ABE 1,100,000& « 122 13,200
— NI SHal SH=Hl
600,000,000& 600,000
—=H mIjoEBRIE 24
1,190,000& « 122 14,280
—N2EAL HIjtE 2| =2
262,000 123 3,144
—CCTV SE2MdE HojetE 2| ==
=3 580,000& » 128 6,960
—=&, M2Z AL, CCVES2HIME A20tM
selifde2 520,000 122 6,240
—=&, (CIVESE2HHEH Lol 2elth
= 402,000& * 122 4,824
—HEHII= Mel ===
100,000& 102 1,000
—HMH2EAL B32=3 10,000,000 « 122 120,000
—TVIHOIE & AdLS MEE
460,000& * 12 5,520
— NS Y 1302+9, 766 M *243] 30,470
—AOEEARHHAAIAE FXE
1,083,300& « 122 13,000
OAE8Z IS X 16,000
—ZA2Zel | 5,000,000& 23! 10,000




2A:
X XH -
o e

=aak

IR
Har2te| et sl HIX e
KHak2te|

RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
—=8 Ne=x 3L 1,000,000& 22 2,000
—2tAb S8l 2,000,000 *23] 4,000
401 AIEHIZL 2 OHYI 1,215,000 1,285,000 A70,000
01 AlZHI 1,215,000 1,285,000 /70,000
O=28 & M2 AL =2 A8 EH
150,000,000 150,000
O=2% L M2FA 2 HHI(01, &0, A8)
&Hl 50,000,000& 50,000
OZ93 =FAIE EH 100,000, 000& 100,000
OSBEA A2 2l=HHI (HHHE)
5,000,000 * 1790 2 85,000
OEAM W == FH 30,000,000 30,000
OFEAL =X+& &l 30,000,000& 30,000
OFEA ZI1etdEH 30,000,000 30,000
OSBEA &UHZHI(6HA)
200,000,000 200,000
OSSFAF 22T (H4)
50,000,000& 50,000
OSHEAM F=HFHI(3HA)
50,000,000& 50,000
OSHEA 22A=2 FHI(2H2)
380,000,000 380,000
OlaIoa &S AlE EXISA
60,000,000 60,000
g d =S 2 1,209,640 1,059,940 149,700
= 34,000
< 12,000
[ias 1,163,640
201 L2 360,950 361,300 A350
01 AtR2te|b] 43,500 43,500 0
OZEXe otOIA &
500,000& #5CH+32 7,500
OFU IS gxt= 50,0002 +60CH 122 36,000
02 324l 317,450 317,800 A350
O3z HAl 42,850
—SEXNE ASXHHl & 282
700,000 »60CH 42,000
—SSAEY SFNERES
50,0003 = 17CH 850
OAlEEHIR X 8,000
—=& dug)] 38 & =
80,000& =10CH*10=! 8,000
OXtetd ] 261,600
- FFU 280,000 +60CH+ 122 201,600
— Xt =X 1,000,000 ~60CH 60,000




A THRD
T Matzte| et SIAHIXL

Chelr THat2el EER=E)
SN - B CRI(S]) - NISAY - BES A HIm=S2t
ORFID 2Z22AAE X2+ 29
5,000,000& 5,000
202 04dl 8,640 8,640
02 X0l 8,640 8,640
O2&& W0 20,0003 x3H x 123 8,640
405 KHHE S| 840,050 690,000 150,050
= 34,000
& 12,000
o 794,050
01 AL =EFSHI 840,050 690,000 150,050
(OXSPIPN=HN; 280,000
—U=sESEX 65,000,000 2CH 130,000
= 8,000
& 4,000
[ 118,000
—U=sESEX 60,000,000 *1CH 60,000
= 4,000
& 2,000
o 54,000
—St=EdH 45,000,000 *2CH 90,000
= 22,000
& 6,000
= 62,000
Ok= X WAl Al 412,050
—SASMYD| =HE EH
127,250,000 & *2CH 254,500
=M =HE EH
157,550,000 *1CH 157,550
O&EX=AD| 2 6,000,000 +8CH 48,000
OAIRE HIE ¢ 50,000,000 50,000
O2A HIS 2L 5,000,000& 5,000
OSH MEE IS 15,000,000 15,000
OAIR 38 e = 2
30,000,000 30,000
2 LA (HSR D) 37,120 37,120 0
&4l 37,120 37,120 0
=234l 37,120 37,120 0
201 B2 AY| 15,280 15,280 0
01 At22teld| 15,280 15,280 0
Oget=2H| 15,280,000 15,280
202 0441 16,800 16,800 0
01 =LHO4 b 16,800 16,800 0
ORMNMSG (A, HOILH, /38 &4 5)
16,800,000 16,800




A R
M HZRIZHI(HRH)
s Jl=2ghl
> = -|ll_j
SA - HY - S9I(3) - HIRAY - BES ofl & e

203 HR=H] 5,040 5,040

M EAEER=A 5,040 5,040

ORNEgE =AY 420,000 122 5,040




